EMTRICE T ZANARENERER (SH3F6AR)
EHRME (1455)

(1) FEHiE
= Rt | (BRI | BT
TN 14hFRr 0.060 0.087 0.036

(2) HEER
No 20 1577 (S ) £ L il S S
1 |E—INER BEFRR(L) KEHET9-1 6823H 0.067 En
2 |B=IER BEFRR(L) FEERET14-1 6823H 0.071 En
3 |FEI/NER BEFRR(L) X E/BT4355 6823H 0.087 Ehn
4 |FERINEER BEFRR(L) FIBET 2.1565 6822H 0.046 Ehn
5 |F/VNER BEFRR(L) Fa = 4R AT45-1 6823H 0.070 Ehn
6 |[BIINER BEFRR(L) ERHET172 6822H 0.061 Eh
7 |EBRE/NER BEFRR(L) EEHET27-1 6822H 0.043 Ehn
8 |BRILEEMEFRIIEFR BERR(L) = HET579 6822H 0.057 Eh
9 |[FEHHE EEPR(L) AET=TH6-1 68 23H 0.069 Eh
10 |&ishHE EEPR(L) HE_-TH14-18 6823H 0.060 Eh
11 |FESHE EEPR(L) kAT 178-273 6823H 0.062 Eh
12 |24~ BREER EEPR(L) BET1147-16 6823H 0.071 Eh
13 | FHMRBERE EEPR(L) HHIET1596-1 6822H 0.043 Eh
14 |D2CHAELAE 2ERN (L) TEILET#B A 6H22H 0.036 B




ENTAICET 2 ZRMHERENERR (FH3E11A°)
WHARAE (14HF)

(1) FEHE
A= Rt | (BRI | BRI
M 14hFr 0.056 0.082 0.035

(2) HBER
No 27 1577 (42 ) T AER | et | x&
1 |E—Ihtk BEFR(E) |[HKEHET9-1 118248 0.066 L
2 |B=IER BEFRR(L) FEERET14-1 118248 0.069 En
3 |FEI/NER BEFRR(L) X E/BT4355 11A25H 0.082 Ehn
4 |FERINEER BEFRR(L) FIBET 2.1565 11824H 0.048 Ehn
5 |F/VNER BEFRR(L) 7i = tRET45-1 11A25H 0.073 Ehn
6 |[BIINER BEFRR(L) ERHET172 118248 0.046 Eh
7 |EBRE/NER BEFRR(L) EEAT27-1 11A25H 0.051 Eh
8 |BRILEEMIFRIIEFR BERR(L) = #HET579 11A25H 0.035 Eh
9 |[FEHHE EREPR(L) AET=TH6-1 118248 0.055 Eh
10 |&ishHE EEPR(L) B _TH14-18 | 11A25H 0.053 Eh
11 |FEF#E EREPR(L) W EEET178-273 11A25H 0.052 Eh
12 |22 BR&ERE EEPR(L) BET1147-16 11A25H 0.072 Eh
13 | FHMRBERE EEPR(L) HHIET1596-1 11A25H 0.050 Eh
14 |D2CHAELAE 2ERN (L) TE LU ET b 11H24H 0.036 (=%




